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Labour Economics
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e R e oyl % Sw S @ gl &
h T T

Note : Answer any five questions. All questions carry
equal marks.

1. ‘Yartaar’ & gR9mT SIS | Yartadr o Rl
o goRom = € ?

Define the term ‘migration’ ? What are the

causes and evil effects of migration ?
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2. ORAE e H gffel & udt % faw uge
fafy= Gfaal =1 arufees ST 1 Seold
HIFSTT |

Point out the relative utility of wvarious

methods of recruitment of worker’s used in
Indian industries.

3. 9Rd H SRS &l 9HE gos & fag
Iemel % dRE feT W SEl W
ATATEAIHS  JU&T0 SHiTSIT |

Critically examine the measures undertaken in

India during the plans to solve problem of
unemployment.

4. USGgH & HHN IdRHkal fagra o

ATATATHS AT iU |

Critically explain the Marginal Productivity
Theory of Wages.

5. ‘Ifed weight’ 1 THgr 99eET ) 39 g
% HEFET H YRd | o shiedsdl o Wl
g2
Explain the principle of ‘Fair Wages’. What
difficulties are being experienced in India in

the implementation of this principle ?
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6. ‘&M H IACHA U F AMYE T? THh
fuies daal w1 fag=a +ifsw)

What is meant by ‘labour productivity’ ?

Discuss the factors that determine it.

7. Sienfier faaci & 7@ &ROi 1 faa=d
ST 9d H 3= SiEifies dey =R
W & fau &4 @ fare AR wus Su™

fhu M@ T2

Discuss the basic causes of Industrial disputes

in India. What preventive and remedial
measures have been adopted in India to
maintain good industrial relations ?

8. fogshianto o1 wn Ay ® 2 fademee &
TSt w1 fgaEm wifsm
What is meant by Rationalisation ? Discuss

the merits and demerits of rationalisation.

9. YRd H v faum =1 sfae™ SeoEa 21
feuot sifsa |

The history of labour legislation in India is

commendable. Comment.
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10. ‘G GReM' ¥ MY F U © 2 THh

[a VRN

adehl ot foa=mm wifswd

What do you mean by ‘Social Security’ ?
Discuss its methods.
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